A £ O & Ak

HFaHS 2 A A
Bzac 29
ZgNo SES EERLE
SN EH -2 (3H) - HEAY - BES 0l &k e HDE2
FHE 2 AT A 1,879,957 1,832,281 47,676
e 29 1,123,147 1,152,914 A29,767
Mo 2RES 95,982 108, 102 212,120
()8 dgses 29 68,732 79,032 A 10,300
201 et 4| 29,400 34,770 A5,370
03 BiAt2g I 29,400 34,770 25,370
ossud 1,230
O A=Y 120,000& * 43 480
OuEM= 10,000& = 75H 750
©I1g 2ol el 1,500
Oz (822) 50,000 = 1004 500
O&at&, 3t 1,000& = 500& 500
OaAMNRIRA=Y 100,000 * 5Y 500
OO F2NERY 1,000
CusM= 5,000& * 2004 1,000
OSsE2= HE2d 1,080
O A=< 120,000& * 3% 23] 720
Oon=sMz 6,000& * 60IH 360
og=el wna 23 8,970
OL A= 120,000 * 3% 73| 2,520
Oon=smMz 6,450
-EHH BE WS 8,500& * 300 2,550
-2 & M= 7,200 = 300 2,160
-giels 33 He 5,800& = 300 1,740
OXAHMUX MEHSD 2 2,640
OnEMZ(108) 10,000& = 30¥ * 43| 1,200
O A=< 120,000 * 3H = 43| 1,440
OLLE IIEHEOY 7,680
OnEM=(108) 3,000& * 200¥ * 83 4,800
O A=< 120,000& * 39 « 83 2,880
@0ielole EAH 5,300
OEES (8422 18)
100,000& * 2& * 54 1,000
OZE0txl, et=2] 500,000& * 3Jf A 1,500
O34 (0t=2l) 400,000 * 7& 2,800
203 YR F=&Y| 2,000 0 2,000
03 Al =X RFZIH| 2,000 0 2,000
O2Es HEAH L 29 2,000,000 2,000
206 M= 6l 2,390 4,670 A2,280
01 M=ol 2,390 4,670 A2,280
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SA BEUCSBRIALL
M YFUC 29
Ehel 2o 2REF (49 ®S)
SN - HH . S(BH) - NEMY - BES 0l At S H RS2
OMEHZ 22 M2 100,000& * 10& 1,000
OO0rd3 28 M= 100,000 * 108 1,000
Q2L 2AME 390
OLEA BN 50,000& * 3& = 1M 150
OFMED M= 80,000& * 3& » 1JH 240
301 EtEA S 34,592 34,592 0
09 SEHALAHIEA S 34,592 34,592 0
OXEASALX &Hl XA 34,592
OSAES &l 10,0003 * 169 * 200 32,000
Osle #F&X =&l
6,000& * 169 * 253 2,400
O& X A8 ZHl 6,0008 * 24 » 169 192
405 KH&HFE SHI 350 0 350
01 L ESFH S 350 0 350
© oI 2 350,000& = 10 350
()22 ot ALD olgt2el 27,250 29,070 21,820
201 et | 26,750 28,570 A 1,820
01 At 22| H| 26,650 28,470 A 1,820
O&I|otE AL s 10,200
O elolsl 2 300,000& * 24 * 123 7,200
Osg% 250,000& * 1A * 128 3,000
0| M2 U=+ 2
200,000& = 3CH = 12& 7,200
O=2J| HIIAAMN =25 150,000 * 30HA 450
OFIIANE HA =8 200,000& » 10H 24 200
OHMBMAI 2 HSI| FIIE At
200,000& * 1JH2 200
OXMTHAMU X2 SX2e =2
700,000& * 1IHa = 128 8,400
02 22234l 100 100 0
OIIAAID HIAHAEE 100,000& * 13 100
307 212H0| & 500 500 0
01 g 2¥¢ =l 500 500 0
ol Az A4FH] 100,000 * 53| 500
ZEAIE L FMAE X2 1,027,165 1,044,812 A17,647
(B=)TA2E ALz 573,020 615,588 A42,568
101 elzdd| 3,784 4,293 A509
04 J1ZtHZ2Z2NHESES 3,784 4,293 AB509
O3 S Ml 2tel 3,784
oJigs 42,7903 » 29 * 40 3,424
O=UHAIREZ 3,423,200 * 4.5% 155
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% FUC 2
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29
Che: TE;DZAIE" éOBM% Sxzel (e &4)
SN EH . (3) - ASAY - BES Oll Ak &}g% HE=2
SEERFEEEEET]
3,423,200 * 2.945% 101
OFIILEsE=ELE2 101,000& * 6.55% 7
OnNszgsseE=2 3,423,200& * 1.5% 52
O EEZ 3,423,200& * 1.3% 45
201 B2 HH| 209,736 206,295 3,441
01 AR 22l 8] 49,432 56,592 27,160
o= H&E 12,000
OCHUHA AR 15 4,000 = 3,0000H 12,000
OBIMBAMAUE ZHEI =2 1,000
(@S] 1,000,000€ * 1JHAF 1,000
O ZEA ol 45,0008 « 88FA x 128 4,320
QOYAAS AL2UE =22 300,000& * 128 3,600
O HIAZ HAaE AU
3,750,000€¢ * 2JM 7,500
O==ZEZ A 910
ONM=+==x 56,9802 * 4 A 228
OMEZE > 137,800 = 30HA 414
osgs 267,700 1002 268
OfEE8 ot X nNEY| 100,000& * 18] 100
O©DYIA SHE AL X W=
100,000€ » 1H 100
oAgtEd N Y 49 2
100,0008 * 23| 200
oAdiotMae FRUY =5
350& = 16,000 5,600
OAgtetM2el A =] 200,000& * 1H 200
OXNIASALX HEXHE X2
450,000 = 1CH = 13 450
OAMTHMAHUHXZ2 2 11,352
O%=&Z M& 66 = 100,0000H 6,600
OZgTegly 23 2
99,0008 * 4= = 204 * 63 4,752
OEIHIA 2= Hel 700,000& * 33| 2,100
02 22294l 160,304 149,703 10,601
OEXEIAE 22U+ Z
330,0009 = 4044 = 128 15,840
©O=2=F2 KX 22| 250,0008 * 1A + 128 3,000
OSea A 300,000& = QoA = 23] 5,400
OASIZE HA 1,250,0008 « 8IHA * 13 10,000
©212 |XE=4| 46,426
oofelolsl & 3,922 % 4 313m° 16,916
O0El0lg 2 HIEAIZ  3,445& % 2,460m 8,475
O0elolal 2 H2&E A2 2,881& % 2,9756m 8,571
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SN HFUSDRIAY A
HH: HFAUCS 2
SR BEALE 2 WA SR EEEEY
S - FHH - SR(3H) - HRAEY - BES Of &t o DS
OO0{glolal2 M3™AIZ 2,830 = 3,849m 10,928
OSEd =22 2| 438 5168 = 2,975m 1,536
o+7=s o 250,0008 = 405 10,000
OHXI| - SUAE = 10,000,000& = 13 10,000
OAEEHIRXIE 3,500
ORAANL(RFHEI])  3,500,000& = 1CH 3,500
OULEID| Y RasY +4
2,000,0008 = 542 10,000
Og 24l 46,138
OO2l0lg 2 (=22, M2  3™AIZ)
1,357% * 6AI2F = 104+ 1002 * 372 24,426
OO0k Zr2  1,3578 » 6AI2E » 104+ 100 8,142
OSE¥ (SSA, U2MEF)
1,357 * 10AI12F = 104 = 100 13,570
206 M4l 49,200 51,300 22,100
01 THZH| 49,200 51,300 22,100
OoAgze 5 & 228 19,400
Od2g 4oH 50,000& * 1208 = 2004 1,200
og= 30,0008 = 108 * 1074 3,000
Odug=z 20,000% = 158 * 1074 3,000
Ot 2= 20,000& = 10& * 11H 2,200
OFI| - 28 2E 40,0008 * 10&5 * 10K 4,000
OMTHMUHTIR YEZHEYD 7Y
500,000& * 1& = 120H 6,000
ostzd YES mA2cl
150,000& * 1102 = 128 19,800
oxzzdzelg M&z 10,000
Oo0fglolgl 2 40,000¥ » 2568 * 53] 5,000
Oossd 40,0008 * 25& * 53| 5,000
307 giztold 220,800 199,200 21,600
05 2IZtRIE = 220,800 199,200 21,600
OEFUS L L BAFY AU
13,500,000& * 123 162,000
OFFAHE ROIAHIRIE  1,300,0008 * 12& 15,600
OO02l0Is| 2 HALAIE 2l S
21,600,000¢ » 1& 21,600
OSEd ZHI8d A 21,600,000¢ » 1& 21,600
401 Al EHIZL L OHHI 89,500 154,500 £65,000
01 Al&€Hl 89,500 154,500 £A65,000
OSSd=1&W mtoch WA
15,000,000 * 14! 15,000
oOx=gd+ MESA 13,000,000 * 12 13,000
OxZ+ EEo M 6,000,000& * 22 12,000
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Nm: BEC 2y
ol AL 2 HAIE R o )
SN - HY R (B) - NEAY - BAS 01 &k o i HIRE2
O3y &M 3,500,000& * 27024 7,000
OHM3HAIH HSIIMZ 5,000,000 = 1IHA 5,000
OHM2EAIZ H2D] M2 & EHEY
5,000,000& * 1oHA 5,000
OAMAL L& A2 & 2BtEH|
1,000,000% * 5JH 2 5,000
OYEASOIA & HHAIE WA
250,000 * 30m 7,500
OSHNE QTN &
10,000,000% * 2JH A 20,000
(HF)8dH2 ASSE 2l 371,243 396,608 A 25,365
201 er2g| 8,530 12,400 A3,870
01 AtR2teltl 6,430 11,400 24,970
OSEAMNMHMe =2 500,000& * 23] 1,000
ossHeIZ2NHFXES 150,0008 128 1,800
Oss&£9E i 200,000& = 1004 2,000
O©=2 At TI=Hl 90,000& * 24 180
OAr= AL HEt= 100,000& * 5& 500
oss 25 g Iz 350,000& * 23] 700
Os2rz 2 AsZH2E THFY
50,0008 » 53 250
02 22234l 2,100 1,000 1,100
ott===¥ g3t 1,500,000& = 13| 1,500
OANZHED L AHM WS =2l
300,000& = 23l 600
206 M= dl 308,513 292,158 11,355
01 MZHl 308,513 292,158 11,355
02 M= 1,350& * 5500te| * 3652 271,013
osg 22 MHE= M2
35,0008 * 505 * 63l 10,500
OSEA 228 Z2ef 25,000& * 100m 2,500
OsSEN 8 P 5,000& * 100% 500
osEs8ZE T+ 200,000& * 504 1,000
osg +¢ 15,000,000& = 1& 15,000
oANgZe B8 € A28 3,000
ONBH4E RNELTE
30,0003 = 5008 = 23| 3,000
401 Al EHIZ 2 OHYI 59,200 91,300 232,100
01 Al&tl 59,200 91,300 A32,100
OSEJ UASs 5 650,000 * 84 5,200
OXotE(MF)MEEY 2,500,000 * 2042 5,000
OWUS At L WA =48 5,000,0008 * 2004 10,000
OAFE A HelAld &3 200,000& * 50m’ 10,000
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MM HEUC 2Y
el BEAA 2 HAS |

SN EH .2 (31) - MEAMY - BAS 0] &t o S HlREY
OY=AF LHA AIEIHE 3,000,000 » 3JH 9,000
OXZASEA WA A&
10,000,000& * 1JH2A 10,000
OY=At S=U 2B 5,000,000 = 2J4 10,000
(BF)NssS8 18 % gzl 32,132 32,616 A484
201 LEH2 ] 4,132 4,616 A484
01 At 22l 2,500 1,800 700
OS2XZ MEZH A 40,000 » 2524 1,000
os=2d =22l 500,000& = 23] 1,000
OO0 ME=SH 2 Att] 100,000& * 53 500
02 2323l 1,632 2,816 n1,184
OL=J| |2 802
ORzal(d%) 1,857& ~ 304 « 15£+ 63 502
O=cldl 150,000& * 2CH 300
Os280U=E HAEHl =2lbl
100,000 = 8CH 800
OOtHZE HGIAl 30,0008 * 13 30
206 M= dl 18,000 18,000 0
01 MZHl 18,000 18,000 0
OsSE8rM=E8 %4E 7
100,000& * 188 * 10& 18,000
405 XA SHI 10,000 10,000 0
01 ML EEFHEHI 10,000 10,000 0
Ox=Ze E2A 2,500,000& * 1CH 2,500
o=+ 2,000,000& * 30K 6,000
QE=zI FE 500,000 * 3CH 1,500
(FF)DI=dsHE =S 29 50,770 0 50,770
201 er29gd| 24,680 0 24,680
01 At 22l 2,000 0 2,000
OJIZHSMEDSZ MAIHH BEANH
2002 * 10,0005 2,000
03 #AL2ZHI 22,680 0 22,680
OJIsds MEns T2 24 22,680
OBYZ2IY LALY
120,000& * 3% * 338 11,880
OFLT2IY ALY
120,0008 * 2% * 203 4,800
(@IME=PNE= 2,000& * 3,000 6,000
206 =4l 7,370 0 7,370
01 =4I 7,370 0 7,370
OJIEHSINE 2 HA2E B2 & ARE 7,370
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SA: BEUCDIALL
HH: ¥FACS 29
Sell AL L WAS RAL EERED
SA - IH - BR(EN) - NPAE - BES of drt S HDS
Oomtttaligs= 550,000& = 39K = 43 6,600
OO0/ ®HIAB= 770,0008 * 10K 770
301 etEa = 16,720 0 16,720
09 ALAHI 242 16,720 0 16,720
OXE SAA &I X& 16,720
OSAgS &l 10,0008 * 8" = 200 16,000
Ozl &AT S48 6,000 » 88 = 158 720
405 AH&HFSH| 2,000 0 2,000
02 =A 7l 2,000 0 2,000
= A-gdl 2,000
OJIZEHSHE NSRS H2ENSEA
2,000,000& = 13l 2,000
UHS AU (BFHSBRIAY L) 756,810 679,367 77,443
oA A 384,780 370,515 14,265
(3F)a2l 384,780 870,515 14,265
101 1244l 384,780 370,515 14,265
01 2= 134,004 118,953 15,051
(CESN st s 134,004
OARteI22+E 78,926
- EtR 8,754 x 14" « 30AI2F * 123 44,121
aPNE=ES 9,138% » 18 « 30AI2Zt » 12E 3,290
-Jls® 8,754 « 10€ « 30AI2F « 128 31,515
Oxgz2*R+d 55,078
-2 ey 70,373% « 69 x 5& x 128 25,335
ARt 73,4658 * 198 « 58 = 128 4,408
-JsA 70,373% * 69 x 5& = 128 25,335
02 JIEtX 2 = 33,520 40,347 26,827
OFEIF(NEZH) B 13,679
OxM=2R+E 13,579
-A2e2esg
8,080% * 2% x 30AI2t » 122 5,804
-Re2RsE
64,7883 * 298 » 52 x 123 7,775
OX YA LA 19,941
OESNI=E e 19,941
A2 ReE
7,230% * 58 x 30AI2F = 128 13,014
-FeE2RE
57,7208 + 298 59 x 12& 6,927
03 RIAAZ 2 E =+ 217,256 211,215 6,041
CYREx 64,286
ods(ta) 46,730
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BEUS MY L
HHSAAL (FFHSBINLA)
o122 | el e
S4B SA(3) - MRAY - BES 0f &4 i =2
RERY 20,440,000 * 13 20,440
SAIERY 26,290,008 * 1% 26,290
Oxg 7.123
OtEag 1,440
A 2 Xt 40,0008 * 2% * 128 960
=gi% 20,0008 * 2% * 128 480
—oEIER4Y 73,0008 * 2% + 1228 4,152
g g
25,389,400 /3652 * 112 2% 1,531
OZEHIH| 1,168,2508 * 28] * 2% 4,673
ozzl 120,0008 * 2% « 128 2,880
OREHl 20,0008 * 2% » 122 2,880
CEEWE R 111,331
o¢=(+2) 72,470
~204 % 29,790,008 * 1% 29,790
~10% Xt 23,290,000 * 1% 23,290
~43 7t 19,300,008 * 1% 19,390
O%g 22,973
OtEsg 2,830
HA < Xt 40,0002 * 3% » 122 1,440
=g 20,0002 * 6% » 122 1,440
—¢imoEAY  268,5008 » 3% * 122 9,666
2L
8,950 * BAI2} * 32 « 128 » 3L 7,733
~oi Tt
29,767,6502 / 3652 * 112 * 38 2,694
OZEEIH 1,208,008 * 23| * 3% 7,248
OEEL] 20,0008 * 128 * 3% 4,320
OREY| 120,0008 * 128 « 3% 4,320
o=t 450
oxg= 90,0008 * 5% 450
@A IR b 755,0002 * 12 9,060
CEERNE 969,560% « 128 11,635
O4TIAEIREE Jl2RES 20,494
SELI=EEEE 196,312,008 * 4.5% 8.835
ODBEZE2LLE  196,312,0008 * 1.5% 2,945
OALSHIRLS  196,312,0008 * 2.945% 5,782
OFIIQYREETES
5,782,0008 * 6.55% 379
oueHZEE 196,312,008 * 1.3% 2,553
372,030 308,852 63,178
=)= 372,030 308,852 63,178

-1307 -




SN BFEUCTIAY A
Hu: HES YA (HFUSB2IAYL)
SRS EEE-E)
SN -EH.S(3H) - NSAY - BES Ofl At 0t g—,gg HRS2
201 LBt d | 336,470 276,652 59,818
01 At 22l bl 58,818 78,042 N19,224
Ol 53| 11,366,000 11,366
O M=l 150
OSJIdEX 20,0008 * 42| 80
OFMNHEEXR 70,000& * 1A 70
oKX EFI=EZ 960
OXIX 13,0008 * 50HAF » 128 780
Os¢X 15,000 = 1JHAF x 128 180
oZdl4a &7 MNE 100,000 * 33| * 204 600
OEN=2D12 3& 28,0008 « 4Z * 23| * 2 A& 448
O&FZ 1=l 120,000€ * 2% * 23] 480
o=l JIE=3H|
6,000 * 282 * 80 * 90% 12,096
o4 - 24| HE=z 38,000& = 304 » 12& 1,368
O=Z8 Mo dXt=s 1,500,000& 1,500
CIEFS =y 29,850
O=3 50,0008 = 1 x 3652 18,250
(@S 50,0008 = 29 x 116! 11,600
02 Z2E224| 277,652 198,610 79,042
O3 HBHEBRZ2E MHEESEES
100,000€ = 3H 300
o2HR 618
ogsreH 24080 * 2005 48
osJ|e#H 1,900& = 300 570
OCHUAIES 40,0008 * 23|16 « 128 960
OLUZAHLMAIAY SN2
242 000& = 128 2,904
(CrSPIEcE= 201,000
OJ|= 88,0008 * 550KW * 122 52,800
Oxle=2 1302 » 95,000kW x 128 148,200
O - otxxe2 41,680
(@F == 10,000, 000& 10,000
Qb= 880 = 3,000m x 128 31,680
ostBMNEYEZ 3,880
OH= 1,700,000& * 23] 3,400
OXe 60,0002 * 4CH = 23| 480
QUERLRYEZ 9,900
(@Fal-— 5502 = 18,000m 9,900
OAOIETVE=AZ 50,0008 = 123 600
O XS Xt 3,280
Os&gEg= 450,000 * 4CH 1,800
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2N FFUHE2AS MG L
HH: HYSIAL (BFAUSVDRIAY L)
crel: D=l (cre): xg)
S - HB () - MR - BES 0 a4 N HIBE2
O0lEXNEE= 100,000& * 8CH 800
OXSRHAl 480
YR E(58) 150,000& = 1CH = 23] 300
S=4E 30,000& = 3CH * 22 180
OFHIIBAE 50,0002 = 4CH 200
ORZX =2l 30,0008 = 10CH 300
OAlEEHIR X 12,230
Oxtsxt 2,500,000 =« 4CH 10,000
OB X= AL 3,500,000& = 3CH = 6% 630
OSSAM=E2E OIER 400,000& » 4CH 1,600
202 o4l 30,240 26,880 3,360
01 =Wodl 30,240 26,880 3,360
©J1=2&4 20,0008 = 28 = 902 * 60% 30,240
203 YR =Ll 5,320 5,320 0
02 YN RFLHI 1,120 1,120 0
©JIEH4 (1008 Mk XI) 40,0008 =~ 28% 1,120
04 FA2EYRFAE 4,200 4,200 0
©JIEH(302!1015t) 350,000 » 123 4,200
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